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Ellipse
locus of a point which moves in the plane
such that the ratio of its distance from
a fixed point (focus) to its distance from
a fixed straight line is always constant.
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Understanding parts of ellipse
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Understanding parts of ellipse
Horizontal ellipse if 191 > 1b/

Focus : (lae , 0) Relation blu a, b, e

length of Major axis : 2a b2 = a2(l - ez)

ny21 length of minor axisa

equ. of directiv : c= Fale

↑
standard egn.

Length of Lates nectum : Endpoints of LR : (Lae ,I
of ellipse Distance between foci : zae

Distance between directrix : Call

Focal radii : PS = a + ex , PS = a-ex

PS + PS' = 2a



Understanding parts of ellipse
Vertical ellipse if I al IbI

Focus : (0 ,
Ibe ( Relation blu a, b, e

length of Major axis : 2b a2 = b2(1 - ez)

ny21 length of minor axisa

equ of directiv : c= Ible

↑
standard egn.

Length of Lates nectum:
2

Endpoints of LR :(IIb
of ellipse Distance between foci : 2be

Distance between directrix : 2D/2

Focal radii : PS = b + ey , PS = b-ey

PS + PS' = 2D



General Equation of an Ellipse
an+ 2hxy + by

"
+ 2gx + 2 fy + c = 0

represents ellipse

if abc + 2fgh-aft-bg2-ch #0
ab - n2 > 0

e < 0



Parametric Equation of Ellipse
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Parametric form : x = acoso

y = b sin



Position of a point w.r.t. Ellipse
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Auxiliary Circle
auxiliary
circle

↳
A circle described by
major axis At as
diameter is called as

Auxiliary Circle za G
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equation of auxiliary circle.

x2 + y2 = a?



Director Circle
The locus of point of intersection

offangents Ito
-
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Eqn . of director circle
W

↳

x2+ yz = a2 - b2



Difference bys Auxiliary and Director Circle.

↓ Directore

NAUX : 22+ y 2 = a? Auxiliary
Circle

Dir. C : x2+y2-a2+62



The eccentricity of the ellipse 25x2 +16y2 = 400 is
(a) 3/5
(b) 1/3
(c) 2/5
(d) 1/5
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The sum of focal distance of any point on the ellipse with 
major and minor axes as 2a and 2b respectively, is equal 
to
(a) 2a
(b) 2𝑎

𝑏

(c) 2𝑏
𝑎

(d) 𝑏2
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In an ellipse 9x2 + 5y2 = 45, the distance between
the foci is 
(a) 4√5
(b) 3√5
(c) 3
(d) 4
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The locus of a point which moves such that, the 
difference of its distances from two fixed points is always 
a constant is
(a) a straight line
(b) a circle
(c) an ellipse
(d) a hyperbola

--

⑦- -
-

-

A

Z

-

#- Z



If (4, 0) and (- 4, 0) are the foci of an ellipse and the 
semi-minor axis is 3, then the ellipse passes through 
which one of the following points? 
(a) (2, 0)
(b) (0,5)
(c) (0, 0)
(d) (5, 0)

⑳
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The latusractum of the ellipse 9x2 + 16y2 = 144 is
(a) 4
(b) 11/4 
(c) 7/2
(d) 9/2
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The eccentricity of the ellipse 25x2 + 16y2 - 150x -175 = 0 
is
(a) 2/5
(b) 2/3
(c) 4/5
(d) 3/5

ba

- -

az= b2(1 - et)
-150x

-175 + 16y2= 0

e ↳= 1-er
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Which one of the following points lies outside the ellipse 
(x2/a2) + (y2/b2)=1?
(a) (a, 0)
(b) (0, b)
(c) (-a, 0)
(d) (a, b)
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